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11 Grammar L9 Answers

Transitive vs. Intransitive Verbs

JLPT-Style Questions

II] 22T &% (»0) (T7E30,
Koko de kuruma o (tomete) kudasai.
Stop the car here, please.

1T 23T 2 3 26T 4 ¥E-5T
tomate tome tomete tomatte

The correct answer is #3- &8 7T .

There is an object in this sentence, so we need a transitive verb. ¥ ¥ % (tomeru, to stop; transitive),
in answer 3 is in C -form, which is what usually goes before < 7ZXu>.

Other Answers

¥ £-57T - This is the T -form of ¥ £% (tomaru, to stop; intransitive). We can’t use this verb with
an object. When we use this verb, the subject is doing the stopping.

IIT EBEp rFVFELL
Koko de kuruma ga tomarimashita.
The car stopped here.

Y% and ¥ F T - These are both in incorrect form, so we cannot use them here.

(2] FLEZ (DUT)TIIAE 2CUET,
Terebi o (tsukete ) gohan o tsukurimasu.
(I) am going to turn on the TV and make some food.

1 25T 2 OXT 3 D2W\WT 4 DI T
tsutte tsukite tsuite tsukete

The correct answer is #4- 213 7T .

This sentence has an object in it, so the best choice is to use a transitive verb. We can use 2115 (tsukeru,
to turn on) with 7L & .

Other Answers

-5 - This is actually the T -form for % (tsuru, to fish or to hang). So, probably not a good
choice for this sentence.

5% 7T - This is the incorrect form, so we can’t use this for this sentence.

DWW - This is the T -form of ¢ (tsuku, to arrive), which won’t work for the sentence above.
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FEEE FoTWBE2E, AEIAX (RBATVWELR),
Densha o matte iru toki, minasan wa (narande imashita).
When waiting for the train, everybody lined up.

1 BH5U0FL LD 2 BWHENTWEL - 3 WHATWEL - 4 WHENFEL=
narabimasho narabete imashita narande imashita narabemashita

The correct answer is #3-%HZ5ATWE LTz,

725X % (naraberu, to line up; transitive) means that someone is lining up some objects. Whereas
705 .35 (narabu) is intransitive so the subject is lining up by themselves. In the sentence above,
the people are lining up because they are marked with (3, the topic marking particle. So, the best
answer is 5 A TWE L 7=, the past polite T\v5 form of L5 .35 .

Other Answers

H5UEL LD - This is the polite L & 9, or volitional, form of 75 .35, which is intransitive, so it
could be used with people, but it sounds strange here. It sounds like you are suggesting that everyone

should line up, but if you use ¥ % with Tu\\% , it sounds like you are talking about a specific time
in the past and not now or in the future.

HENTWEL /= and 25\ F L 7= - In the sentence above, no one is lining up the people because
they are not marked with the % particle. Instead, they are lining up by themselves. Because of that,
we can’t use 7L 5X% in any form.

EE) RERIC(LEorm) LE: HEXAR BUILE
Densha ga kyoto eki ni (tomatta) toki, Tanaka-san wa orimashita.
When the train stopped at Kyoto station, Mr. Tanaka got off.

1 ¥¥E-T 2 Y- 3 FEs7 4 ¥vHT
tomatte tometa tomatta tomete

The correct answer is #3- &% o7z,

The subject of the sentence is the train, so using ¥ £3% (tomaru, to stop; intransitive) is the best
choice. We are not talking about someone stopping the train, but rather the train stopping.

Other Answers

¥&7= and ¥ T - These are both forms of ¥ % (tomeru, to stop; transitive), which take an
object. There is no object in the sentence above, so we cannot use either of them here. Also, we can't

use the T -form in front of ¥ % .

¥ £-57T - This is the correct kind of verb - intransitive, but not in the right form. We can’t use the
T -form directly in front of ¥ X .

(5] zune (l3Lo3) #iic %% LIl
Eiga o (hajimeru) mae ni denki o keshimashita.
Before the movie started, (they) turned out the lights.

1T ICETW5 2 13t 5 3 1dL%E3 4 ILHTNS

hajimate iru hajimeru hajimaru hajimete iru
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The correct answer is #2- [ &3 .

There is an object in this clause, so we should use a transitive verb. That leaves us with answers 2 and 4.

We can’t actually use the Tu\\% form before ®JIZ, so that eliminates answer 4. That leaves us with
answer 2.

Other Answers

[ZTCEF T3 and T T3 - You can use a verb in the non-past casual form before HJiZ or a
noun with the @ particle, but you cannot use T\\5 .

lZC % - If the clause before ¥ X marked Z\ 7' with the X or 7' particle, it would be possible to
use |3 U %5 , which is intransitive. However, it is marked with the % particle, making it an object
being acted on. In that case, we need the transitive verb — (U5 .

Suffixes

JLPT-Style Questions
1] brL(EB) I £A HoZALFT

Watashi (tachi) wa raigetsu kekkon shimasu.
We will get married next month.

1 % 2 =6 3 F 4 §o

sugi tachi chi zutsu

The correct answer is #2-1=5 .

The suffix /=% is a plural marker that can change a pronoun or noun into plural form. Here we
changed #>7= (watashi, 1) into 4>7= /=% (watashitachi, we). That is the only answer choice that we
can use with a pronoun.

Other Answers

9 X - The suffix 3 X can be used after an amount of time or specific time to have the meaning ‘past’
or ‘after’.

4 98 1549 9XTH,
Ima kyu-ji jigo-fun sugi desu.
Now, (it) is 15 past 9.

% — The ¥ suffix can be used after a period of time in order to talk about an action occurring
during that time.

FErIc lXLYE TS
Gozen-chi ni hashirimasu.
(D) run in the morning.
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4> - The ¥ suffix is used to talk about the distribution of an amount of something.

BAE,» HLT> EFIT QUL
Nihongo ga sukoshi zutsu jozu ni narimashita.
(My) Japanese has gotten better bit by bit.

(2] <zt 3EE30491T %FT. S 3EINTETTAL, L (274H) FbEL i),
Basu ga san-ji sanjapun ni kimasu. Ima, sanji sanpun sugi desu kara, ato (nijinana-fun) machimasho.
The bus comes at 3:30. Now, (it) is 3 minutes past, so let’s wait for 27 minutes.
127 % 2 17 » 333% 4 23
nija-fun junana-fun sanjusanpun nijisanpun

The correct answer is #1-27 493 .

The suffix §° X means past, and it can be assumed that we are talking about the current hour if
none is given. So once we know that, this is basically a math problem. If the bus leaves at 3:30, and

it is 3 past now, that gives us 27 more minutes.

A TIRXAIZ YITTH.)
“Kitamura-san wa doko desu ka.”
“Where is Ms. Kitamura?”

B IFaT (Bw?)) XAIIZ {T-C EENZ->THEHEA
“Gozen (chd) ginko ni itte, mada kaette imasen.”
“In the morning, (she) went to the bank, and hasn’t come back yet.”

T 3% 2 599 3 Uw) 4 ¥
sugi chi ja zutsu

The correct answer is #2-5w 5 .

To talk about an action happening during a period of time we can use ¥, which can be pronounced
59 (chd) or L) (ju). Often times, these are interchangeable but for 48] (gozen, morning), we
have to use 59 . Uw ) does not work here.

Other Answers

9 X - The suffix 3 X can be used after an amount of time or specific time to have the meaning ‘past’
or ‘after’.

4 98 154 9XTH,
Ima kyu-ji jugo-fun sugi desu.
Now, (it) is 15 past 9.

Uw?9 —The Uw? (9) suffix can be used after a period of time in order to talk about an action
occurring during that time. However, with 417 (gozen, morning), 5% Y is usually used.

FRrPic 3LYET,
Gozen-chi ni hashirimasu.
(D) run in the morning.
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3> - The ¥ suffix is used to talk about the distribution of an amount of something.

BARZEN PL¥> EFIT DIl
Nihongo ga sukoshi zutsu jozu ni narimashita.
(My) Japanese has gotten better bit by bit.

(4] A TEDIF UNATLER, )

“Kino wa taihen deshita ne.”
“Yesterday was terrible, wasn’t it?”

B 1Z29T¥L. —B(UwI) HIWXTL A,
“So desu yo. Ichi-nichi (ja) kaigi deshita.”
“That’s right. The meeting was all day.”

1 9o 2 Uw)d 3 5w) 4 %
zutsu ja chi sugi

The correct answer is #2- L S .

When talking about an action that continues during the entire time period, it is more common to

read P as Uw?) . Since the meeting wasn’t a quick event (like turning off the lights), we should
use the Uw 9 pronunciation.

Other Answers

$ > — The 9 suffix is used to talk about the distribution of an amount of something.

BAEN) PL¥> LEFIT DYILr
Nihongo ga sukoshi zutsu jozu ni narimashita.
(My) Japanese has gotten better bit by bit.

5w 9 —The L) () suffix can be used after a period of time in order to talk about an action
occurring during that time. It sounds unnatural here though, because the activity continued all day.

Farpic ELYET,
Gozen-chil ni hashirimasu.
(D) run in the morning.

9 X - The suffix 9 X can be used after an amount of time or specific time to have the meaning ‘past’
or ‘after’.

4 98 159 T XTH,
Ima kyu-ji jugo-fun sugi desu.
Now, (it) is 15 past 9.

5] RNFFrxE (—Fo) BRIl

Banana o (hitotsu zutsu) tabemashita.
(They) ate one banana each.

1 ¥o5—> 2 —oOFo 3 —oDF o 4 ¥OO—>
zutsu hitotsu hitotsu zutsu hitotsu no zutsu zutsu no hitotsu
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The correct answer is #2- —23 D.

The only answer in correct form is answer 2. We don’t usually use the ¢ particle with 4> and
4D needs to go after an amount.

Sentential Grammar 2 (Sentence Composition)

(1] A T2D313 Z9ZAIT (T5%FL7]
“Kino wa koen ni ikimashita.”
“Yesterday (I) went to the park.”

B IbLIT ZolwiEF> I Y2 ~N 3 (TXFHATL/ A,
“"Watashi wa kono shi-matsu wa doko e mo ikimasen deshita.”
“I didn’t go anywhere this weekend.”

1 ¥z 2 13 3 % 4 -~
doko wa mo e

The correct answer is #4 (2143).

We can’t use the |3 particle directly after a question word like ¥ Z , so that should go after L) F
. We can’t use the ~\ or ¥ particles after time so those must go after ¥'Z . The “\ particle goes
before the ¥ particle (page 103)

(2] A TZUuAIT YITLED.
“Eiga wa do deshita ka.”
“How was the movie?”

B I3EL A2 2F56L(T 13X »2VFELE
“Hanashi ga tsumaranakute hayaku kaerimashita.”
“The story was boring, (so) (I) went home early.”

1T 3L 2 2F5NKT 3 13%L< 4 B
hanashi tsumaranakute hayaku ga

The correct answer is #2 (1423).

We have the ' particle which is used to mark the subject. The only other part that could be the
subject is & L , so we can put the 7' particle after that. Then, we just need to sort out D 57 < T
and 13¥°< . 2F 572 { T is the T -form of the \\ -adjective DF 57\ (tsumaranai, boring) (page 81)
while [3X>¢ is the adverb form of the adjective [ZX>\\ (hayai, fast; early) (page 139).

The adverb has to describe the verb, so it is best to place it at the end before the verb. While D F 572
¢ T is an adjective that describes the story. So, we will put that in the 3rd position.

A TSR EHEDS HVELED]
“Kyo wa denwa ga arimashita ka”
“Were there any phone calls today?”
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B MIw, F »° —F& FEF »VYFL7
“Hai, denwa ga ippon dake arimashita.”
“Yes, there was just one phone call.”

1 —%k 2 B3t 3 72 4 7
ippon denwa dake ga

The correct answer is #1 (2413).

Speaker A specifically asks about the phone calls, so that should be our subject marked with the 7°
particle. Then, we have a counter - —7 (ippon, one call). We aren’t talking about only phone calls.
We want to talk about the fact that there was only one call. So, it is best to put /=i (dake, only)
after the counter, and the counter goes after the item it is counting ( &% , denwa, phone calls).

(4] A THBIX % LIEATLED]
“Kyo wa nani mo shimasen deshita ka.”
“Did (you) not do anything today?”

B Tvwnz, HzLIE ~X o Z50 % LFlil.]
“lie, watashi wa heya no soji o shimashita.”
“No, I did the room cleaning.”

1T D 2 & 3 AP 4 zHC
no o heya sOji

The correct answer is #4 (3142).

The object of the sentence is marked with the % particle in Japanese, and at first you might think
that ~\X°> (heya, room) is the object of this sentence. That is, after all, what we are cleaning right?
However, we cannot have two % particles to one verb. We need the % particle for <9 U because it
isa 9% verb.

That means instead of talking about doing the cleaning to an object, we need to talk about the

kind of cleaning. In this case, we are doing ‘room cleaning’. Room, “\*X>, is a noun so we use the @
particle to change it into an adjective that describes the type of cleaning we are doing.

5] A ITHXoT 752 4T kT (X0,
“Asatte kurasu ni kite kudasai.”
“Come to class the day after tomorrow, please.”

B ITH, WENLWVWATT L,
“Demo, isogashii n desu yo.”
“But, (I) am busy!”

1 72X 2 kT 31 4 HX->T
kurasu kite ni asatte

. (4



Grammar L9 Answers

The correct answer is #1 (4132).

Words for ‘times’ usually go first in a sentence, so we can put that in the first space. How about the
|Z particle? We could put it after the time, but we don’t need to. When using a verb of motion like
%% (kuru, to come) however, we can mark the location being traveled to with the |Z particle. The
location in this sentence is 7 7 A so we can put it after that. Also, when using <7z X\ with a verb,
we usually put the verb in T -form directly in front of {7/ZX\>.

(6] A TZoFEblz wof IIXPHTTH, ]
“Kono machi wa itsu mo nigiyaka desu ne.”
“Is this city always lively?”

B lNIw, TH, HEL 2 bhrv X I LIFHMTLE.
“Hai, demo, watashi ga wakai toki wa shizuka deshita.”
“Yes but, when I was young, it was quiet.”

T Horn 2 3 bzl 4 v
wakai ga watashi toki

The correct answer is #1 (3214).

We can work back from the (I particle, which marks the topic. Is the topic #>7/=L ? It doesn’t make
much sense to say ‘I was quiet’. So, it must be ¥ X (toki, time). What kind of ¥ %X ? It was some time
in the past because we are using the past tense. ‘ 7z=L 2% #>2°\\’ is the only combination that
makes sense and that is about the past, so we can go with that.

A TpIXIT % LELED]
“Ylibe wa nani o shimashita ka.”
“What did (you) do last night?”

B T*m»> E-/7~ DVD#% R/~ %T HnFlrl.]

“Kino katta diibuidii o mita ato de nemashita.”
“After (I) watched the DVD (1) bought yesterday, (I) went to bed.”

1 Eor= 2 R 3 T 4 DVD #
katta mita ato de diibuidii o

The correct answer is #2 (1423).

We have 42T (ato de, after) which needs a verb in casual past tense before it, and we have two to
choose from 7= (mita, saw) or 7= (katta, bought). We could either buy or watch a DVD, but
what would we most likely do before going to bed? Probably watch it. That makes the most sense
here. So, we can put that word ( ®,7= ) before 4 and then the object, DVD with % before that.
And finally, E—7= describes the DVD, so we will put that first.

A TZ3%2A ~ HZU 1T T-C %57,
“Koen e asobi ni itte kimasu. ”
“(I) am going to the park to play. (I) will be back.”
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B TWwoThoslLplny
“Itte rasshai”
“See you later.”

1 4T-T 2 HzW 31z 4 N
itte asobi ni e

The correct answer is #2 (4231).

Looking at the particles, we have the |Z particle and the -\ particle. Both of these can mark 29 %
A (kéen, park), a location. However, the |Z particle can be used with $»Z U and 29 Z A , while ~\
cannot. So, we will use the ~\ particle, which marks the direction we are moving toward, with 27
Z A, . We can then use |2 with $Z 0. $HZ U is the V-stem of #%.3% (asobu, to play). We can use

-

the form V-stem + (2 + {T< that we learned about in lesson 5 (page 107).

(9] A Thlo wzld 40007M 220 FL7]
“Watashi no ie wa yon-sen man-en kakarimashita.”
“My house cost 40 million yen.”

B AKX T I wi & JuwT¥4a,]
“Nihon de wa ie wa takai desu ne.”
“Houses in Japan are expensive, aren’t they?”

1 1% 2 W2 3 13 4 T
wa ie wa de

The correct answer is #2 (4321).

We have two 3 particles in this question, which is possible if they serve different purposes. The first
I3 is used for contrast.

BATIX

As for in Japan / Speaking of in Japan (compared to other countries)

The second |3 is to mark the topic of houses.

So, we can’t use two (3 particles on the same noun, which means we just have to determine where
to put the T particle. This T particle marks where it costs so much to buy a house, so we need to
put it after B (Nihon, Japan).

A TE—=LE ®RLETH.]
“Biiru o nomimasu ka.”
“Do (you) drink beer?”

B vz, ¥wditwd ¥ K EF¥ % KLET.
“lie, gyunyu to mizu dake o nomimasu.”
“No, (I) only drink milk and water.”

1 % 2 K 3k 4 7=1f
o mizu to dake
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The correct answer is #4 (3241).

When we list items with the ¥ particle, the first item needs to be marked with the ¥ particle, but
the second item does not and often takes another particle. So, the ¥ particle needs to go first, then
the second item. How about 71} and % ? The % particle can’t go before /=17 . That leaves us with
ISR

1] A Tzozunz RFELED
“Sono eiga o mimashita ka.”
“Did (you) watch that movie?”

B B+ EAEN HBLATHE K¥F 1T {T-7= #HT RIElLi.
“Tanaka-sensei ga oshiete iru daigaku ni itta ato de mimashita.”
“After (1) went to the university where Tanaka Sensei teaches (I) watched (the movie).”

1 4T-7= 2 BLATWS 3 K% 4 1Z
itta oshiete iru daigaku ni

The correct answer is #3 (2341).

To the right of the answer spaces, we have 1% T (ato de, after) and before that we can put a verb in

casual past tense or a noun with the @ particle. There is no @ particle, so that means {T—-7- goes
in the last spot. There is also a |Z particle which marks the place we are going to. Which of the rest
of the answers is a place? K% . So we put that in front of the (T particle and 3L 2 T\\% describes
it so that will go first.

12] A T45BIZ 9T v RARTT 4,

“Ky6 wa suzushikute ii tenki desu ne.”
“(It)’s cool today, and the weather is nice, isn’t it?”

B [3AIX%E LIEAD]

“Sanpo o shimasen ka.”
“Why don’t (we) go for a stroll?”

1T RATY 2 L 3 373LKT 4 12
tenki desu ii suzushikute ne

The correct answer is #1 (3214).

The #2 particle will always go at the end of the sentence. Then, since XX T (tenki desu, weather)
has the copula at the end of it, we can put that before 42 . That leaves us with \ Y and 3 L<T.
Based on what we learned in lesson 8 about linking adjectives together (page 155), we know that ¥
3 LT goes first.

13] A Tzoxlz Yz BEFTH.
“Kono hon wa doko ni okimasu ka.”
“Where do (1) put this book?”

327



328

Grammar L9 Answers

B Th/=L ® DLz 12 1F B2RWT (FEX0,]
“Watashi no tsuke ni wa okanaide kudasai.”
“Don’t put it on my desk, please.”

1 D 2 12 3 (% 4 X
no ni tsukue wa

The correct answer is #2 (1324).

The verb in Speaker B’s response is 372\ T (okanaide, don’t place) and we have a |Z particle. We
need to put the |Z particle behind a location. It would seem strange for Speaker B to tell Speaker A
not to place the book on himself, so let’s assume he is talking about the desk (¢ % ).

Now, where do we put the O particle? We can’t put it after < 212, so it must go before that.
Remember, when we want to show possession we use the ¢ particle. So, we can put the ¢ particle
between #7/=L and < 21T, which gives us /=L ® < ZIZ. And the only place for the X
particle to go is at the end.

A TZDORIT WETTH,
“Sono hon wa ikura desu ka.”
“How much is that book?”

B Icoo AII 123> T 100 T,/
“Kono hon wa ni-satsu de hyaku-en desu.”
“These books are 100 yen each.”

1T &I 2 100 M 3 128D 4 T
hon wa hyaku-en nisatsu de

The correct answer is #4 (1342).

The word Z® is a ‘pre-noun adjectival’, which means it has to go before a noun and not before

amounts like (Z2XD (two volumes) or 100 FJ . So that means #[3 has to go first. Then, when we
talk about a price per something we need to use the form ‘counter + T + price.” Since the T particle
usually marks the tool or method you use to do something, you can think of it as the way you are
buying them (e.g. by the 2s).

5] A THxZIT /SN TEELEA. )
“Ryoko de Pari e ikimashita ka.”
“Did (you) go to Paris on a trip?”

B lz2z2., #9LTC u—~v N ¥ {TxFL/.]
“E, soshite Roma e mo ikimashita.”
“Yes, and (I) also went to Rome.”

1 €9LT 2 % 3 O—<% 4 -~
soshite mo roma e
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The correct answer is #4 (1342).

We can link two ideas or sentences together with < 9 LC . Speaker B first says yes that she went to
Paris and then adds to that by saying she also went to Rome. We mark places being traveled to with

the |2 or the ~\ particle. In this case, we can use the ~\ particle after Rome to mark that Speaker

B went there. Then, we add the ¥ particle because we are adding to the list of cities Speaker B has
been to.

A TEPILE BFTLY TEITTI]
“Tanaka-san wa osushi ga suki desu ka.”
“Does Mr. Tanaka like sushi?”

B Tvwhwz, ATE ABNFIHN BFL £ 13 BRNIEA.
“lie, nan de mo tabemasu ga osushi dake wa tabemasen.”
“No, (he) eats anything, but (he) doesn’t eat sushi.”

1 23 2 13 3 BRETH 4 B¥L

dake wa tabemasuga osushi

The correct answer is #1 (3412).

Looking at what comes before the answer spaces on the left, we see 2] T% . The only thing we

can put after that is X F ¥ /°, since we can’t put any more particles, like /=i} or |%, and B3 L
doesn't really work there either. We can put the |3 particle after 33 L . Now what do we do with 7517 ?
We can’t put it after X F 9 2%, but we can put it between 33 L and |3 . Remember, only |Z and
¥ can go before /=17 . See Lesson 8 for more details on 721} (page 162).

A TLwX1r3ld WwWOTTH.]
“Jugyo wa itsu desu ka.”
“When is class?”

B ITtwXs513 98 H»5 118 FT T9.J
“Jugyo wa ku-ji kara juichi-ji made desu.”
“Class is from 9 until 11.”

1T 968F 2 118F 3 ¥°T 4 b5
ku-ji juichi-ji made kara

The correct answer is #4 (1423).

Usually, the start time will go first in a sentence. 9 BF comes before 11 BF, so we can put that first
and mark it with »'%, which marks start points. We can then mark the end point, 118F, with ¥ T.

BAREZ NALwIZ  LAFS UrdYE LT Wi,
Nihongo o renshi o shinagara ryori o shite imasu.
(I) practice Japanese while (I) am cooking.

T LAN5 2 LT 3 UiHY%E 4 NALwI %
shinagara shite ryori o renshu o
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The correct answer is #3 (4132).

Looking at the verb at the end, W\ X9, we can tell that we either need a verb in T -form or an
animate object since L F ¥ can be used to talk about the existence of animate objects like pets and
people. In our case, there is a verb in T-form — LT. Before that, we can put LA L®wH% or I IH)%.
LA L) % probably goes in the first space though because you can’t cook Japanese. Then, we put
L7225 in the one last place in the middle and we are finished.

A TRX\ 2hT¥4, ]
“Okii niwa desu ne.”
“Big garden, isn’t it?”

B Z5T¥+4, ZHiz, 22X ¥ T ww Fb T,
“So desu ne. Sore ni, koko wa shizuka de ii machi desu.”
“Yea, that’s right. Moreover, this is a quiet nice town.”

1T L$» 2 ¥ 3 T 4

shizuka machi de ii

The correct answer is #4 (1342).

Looking at all the pieces we have two adjectives, a noun, and the C particle. The T particle can only
really go after the 7% -adjective, L9 7*. And \ .\ can only go in front of ¥% . We can’t put L§ /7T
before T4 . Usually an adjective or a noun goes before T, so we will just put \WEH last.

A “MONY T 3E50THWETA, ]
“MONY de hataraite imasu ka.”
“Are (you) working for MONY?”

B Tz, HEXIA A FEbVwTnE 28 12 2D TnEd, ]
“lie, Tanaka-san ga hataraite ita kaisha ni tsutomete imasu.”
“No, (I) work for the company Mr. Tanaka works for.”

T 3760w TunwE 2 12 3 &% 4
hataraite ita ni kaisha ga

The correct answer is #3 (4132).

We have 175\ T\ /= which can only go one place — in front of 2*\\L%>. The verb DX ®HT\E T,
which is the T\% form of D¥ & % , usually uses the (T particle to mark the person or thing the
subject is working for. After 7*\ L %> looks like a good place to put that. And then we just have the
MY particle, which should go after ¥ X A . Remember, the subject of a clause is marked with the

MY particle.
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Using Grammar in Context (3rd Set of Grammar Questions)

Passage 1

BAT NAXIIHILT w3 FAED B »3IT $5 ] 0 JAlLiHE F:X

iLf:o

6BFIC BEXT YvyU—% [[1 | »U0Ts A-E HuEd, Thrb, 3%
HHPNWT  HITWHAZ BRNIT, Wob HITEHA L2 | 1T SrE RNET,
TERZ WAE OHREY. rIYE 7L 2IAIC REHT RIT QLYIY, 7
7y bR—LT &RE FHET, SO sIE [3 | ILAT FUNATE, 7
BF15 50 BRIZ OYFET, BB AN 7234 DoTWETNIL LT
YD BT BYBRLEE H) OMNTOET, Epb, L Y3 BET a—k—
¥ BVWET, 2L 20a—k—% [ 5 | KuLAE  LI¥N HEOTOIET,

ROMAJI

Nihon de benkyo shite iru gakusei ga “mai-nichi asa ni suru koto” no bunshé o kakimashita.

Roku-ji ni okite shawa o[ 1 | abite kara méru o yomimasu. Sore kara, ha o migaite asagohan o
tabemasu. Itsu mo asagohan| 2 | ni pan o tabemasu. Nana-ji ni ie o demasu. Tokidoki nana-ji go
fun goro ni ie o dete eki made hashirimasu. Purattohomu de densha o machimasu. Fuyu no asa wa
samukute taihen desu. Nana-ji jiigo-fun no densha ni norimasu. Mai-nichi hito ga takusan
|4 | notte imasu kara shigoto no eki de oriru toki ni wa mo tsukarete imasu. Dakara, tokidoki

omise de kohii o kaimasu. Soshite, sono kohii o[ 5 | nominagara shigoto e aruite ikimasu.

ENGLISH

Students studying in Japan wrote a “Things (I) do in the morning” composition.

(I) wake up at 6, take a shower, and then read mail. After that, (I) brush (my) teeth and eat
breakfast. (I) always eat bread at breakfast. At 7, (I) leave the house. Sometimes (I) leave the
house around 7:05 and (I) run to the station. (I) wait for the train on the platform. Winter
mornings are cold and terrible. (I) get on the train at 7:15. Every day, a lot of people ride the
train so, when (I) get off at (my) job’s station, (I) am tired. That’s why, sometimes (I) buy coffee

at the store. And, while drinking that coffee (I) walk to work.

1]
1 dUBEN5 2 HUTH5 3 HUBHKT 4 HUTHKT
abiru kara abite kara abiru ato de abite ato de
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The correct answer is #2- HUTH'S .

This is the only answer in the correct form. You can use T -form + »'5 to emphasize that one
action happened shortly after the other without a break:

bHr=LIX BRI RTHS 15 FI BUET,
Watashi wa Nihon ni kite kara jigo-nen ni narimasu.
(It) has been 15 years since I came to Japan.

Other Answers

HU54% T and HU TR T - When using /2T, we need to have a verb in casual past tense before it,
even if the main verb of the sentence is in non-past.

V5T AZ BNEHET IAFLELLI,
Hirugohan o tabeta ato de sanpo shimasho.
After (we) eat lunch, let’s go for a stroll.

HUS 05 - To emphasize that one action happened shortly after another we need to use the T -form
before M5 .

(2]
1 % 2 12 3 2% 4 7
ni toki ga

o
The correct answer is #2- [ .

The [T particle can be used for a couple of things like marking the time something occurs, talking
about how frequently something happens, or marking a place that is being traveled to (page 86).

Here the [T particle is being used to mark the time you eat the bread.

Other Answers

% - The % particle marks the object in the sentence. X Zl3A (asagohan, breakfast) is not the
object of the sentence, /X (pan, bread) is. Also, we can’t have two objects to a verb, can we?

¥ % — We can use ¥ = to talk about when something happens. We can use a noun with ¥ % if we
put a @ particle between the noun and ¥ X .

ZXED ¥x HInEDN FVWTEITLA,
Kodomo no toki amai mono ga daisuki deshita.
When I was a child, (I) loved sweets.

However, it sounds odd to use this with %X Zl3A since it already implies a time.

A' — The 7' particle marks the subject of a sentence. It marks the doer in the sentence. So, if we use
it here, it means breakfast eats bread, which would be an interesting sight.

3]
1 XLWT 2 XK 3 Xn 4 3K T
samui de samuku samui samukute
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The correct answer is #4- < T .

X< T is the T -form of X&>\» (samui, cold). When we want to string together two adjectives, we
need the T -form to connect them together.

Other Answers

XL WT - We can add the T particle to a 7% -adjective to make the T -form. However, X&>\\ is an
W\ -adjective, so we need to follow a different form.

TV -+ (T = 38T

X¢>¢ - If we remove the final \» and add < to an \\ -adjective, we get the adverb form, which we
can use to form the negative or talk about a change.

HrzLiE STLHUIEA,

Watashi wa samuku arimasen.
(I) am not cold.

SLALoTHET,
Samuku natte imasu.
(It) is getting colder and colder.

X\ - This is the non-past casual form of XZ:\\, which can’t normally be used before another
adjective like 7=\ ZNA .

4]
1T 505 2 D5TWETHS 30YFLENS 4 H-o=05H
aru kara notte imasu kara norimashita kara atta kara

The correct answer is #2- D> TWLWETH S .

This whole composition is about what happens every morning, so we need to use the non-past form.

We can’t use %% because we are talking about people, and & % is used for inanimate objects only.

Other Answers

H505 and H->7=7"5 — We can only use 5 for inanimate (i.e. not living) things. If we want to
talk about animate objects, we should use 5 .

FBEORIZ AN SA WET,
Densha no naka ni hito ga takusan imasu.
There are a lot of people on the train.

DY FEL=N5H - We can’t use the past tense because we are talking about regular activities, or what
happens every morning

5]
1T REY = 2 BRATZL S 3 RAUNS 4 RAEDND
nomu toki nonda toki nominagara nonda kara
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The correct answer is #3- 8RFHTEH 5 .

The student wants to talk about doing something while they are walking, so we should use L/'5
(nagara, while) that we learned in lesson 7 (page 136).

Other Answers

RIY X - If we use BRE2¥ X, it sounds like you are talking about a regular habit. In other words, it
sounds like you are saying “Whenever I drink coffee, I walk to work,” which is probably not what is
meant here.

A TZX X — If we use the past tense, it makes it sound like we are talking about a specific incident,
but we are talking about regular morning routines.

#ATZM 5 — We can'’t use the casual past tense before 75 like this to talk about the sequence of
events. We can use it to give a reason for something though.

E—z  72{3A KRAEDIL 5 K[H50 HBHWTT,
Biiru o takusan nonda kara ima kibun ga warui desu.
Since (1) drank a lot of beer, (1) now feel unwell.

Passage 2

HRT RNAXIILT W3 ZAEDN [(2»Z{] © JALIIE FBEXFLI,

RiIT 4 5530 [ 1 | T nNudd LThETd, &% XX ZonRu»T
F50TWET, SUPT AT R 208M 20w [ 2 ] o &x
#LTCWELE, £TH, EFIz 20w #ELIY, FrEorxil #B 2ROK
T RY Wwolirlz 20Tk NA%Xrd> [ 3 ] LTwiElrA, Lal, RE »
FY NARrY LEHATLE, R K¥EANE [ 4 | F250T Ry Sud
T WBELLWTHET, LT R LIed zuwIrEdx #LF+, Rolord
5 | 2T FEUNATT,

ROMAJI

Nihon de benkyo shite iru gakusei ga “kazoku” no bunshé o kakimashita.

Chichi wa ima gojiigo-sai| 1 | de panya o shite imasu. Haha mo tokidoki sono panya de hataraite
imasu. Panya de hataraku mae wa chichi wa niji-nen-kan Eigo| 2 | no sensei o shite imashita. Ima
demo, jozu ni Eigo o hanashimasu. Kodomo no toki ni mai-nichi gakko no ato de chichi to issho ni
Eigo o benkyé shite imashita. Shikashi, ani wa amari benkyé shimasen deshita. Ani wa
daigaku e wa| 4 |ikanaide chichi to panya de hataraite imasu. Soshite, chichi wa shigoto-chi
Eigo dake o hanashimasu. Ani no shigoto wa| 5 | muzukashikute taihen desu.
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ENGLISH

Students studying in Japan wrote a “Family” composition.

My father, now 55 years old, has a bakery. My mother also sometimes works at the bakery.
Before my father worked at the bakery, (he) was an English teacher for 20 years. Even now, (he)
speaks English well. When (I) was a child, every day after school, my father and (I) studied
English together. However, my older brother hardly studied. My older brother didn't go to
school and works with my father at the bakery. And, my father, during work, speaks only
English. My older brother’s work is difficult and hard.

112 2 LY 3N 4 T
ni yori e de

The correct answer is #4-TC.

The T here is actually the T -form of the copula ( T, desu), not the T particle. Since 55 X\

(gojugo-sai, 55 years old) is considered a noun, it is best to use this T -form to describe the father.

We can also put this another way:

55X RiF Ar¥zE LThETd,
Gojlgo-sai no chichi wa panya o shite imasu.
My 55 year old dad runs a bakery.

Other Answers

|2 — The [T particle is used to mark the time something happens. An age, like 55 X\, is not
considered a time in Japanese. So, we can’t normally use the [ particle with an age to talk about
when something happened.

L) — We can use L) to make comparisons. It is similar to ‘than’ in English

HPIAIE LEIALY e LWTT,
Tanaka-san wa Yamada-san yori isogashii desu.
Ms. Tanaka is busier than Mr. Yamada.

~\ — The -\ particle marks the direction something is going toward. This sentence is about the
father running a bakery and not heading to 55 years old, so we can’t use it here.

SAEIN AT E720WTT,
Gaikoku e ikitai desu.
(I) want to go overseas.

17 2 T 3D 4 %
ga de no o
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The correct answer is #3-@ .

The word Z\Z (Eigo, English) is a noun, so we need to use the ® particle after it to describe €A
U\ (sensei, teacher).

Other Answers

Y — The 7' particle is used to mark the subject of a sentence. However, ‘English’ isn’t the subject in
this sentence.

T — The T particle can mark the way or tool we use to do something. In the sentence above, we are
talking about father’s role or job, not the way he is doing the job. If we want to use the T particle,
we can say something like the following.

Rl ZWIT BLIATWIET,
Chichi wa Eigo de oshiete imasu.
Father teaches in English.

% - The % particle marks the object of a sentence. In the sentence above though, we are not
talking about using English, we are talking about the father’s role as a teacher.

-

1 LET 2 LTWFEL - 3 LTwWFET 4 L=\WTT

shimasu shite imashita shite imasu shitai desu

The correct answer is #2- LTWE L.

The sentence starts with Z¥' £ ¥ %|Z (kodomo no toki, when (I) was a child), so we are talking
about the past. The only answer in the past tense is 2.

Other Answers

LE¥, LTET and L/=\WTT - These are all in non-past tense, so we can’t use them in this
sentence.

4]
1 T NWT 2 17¢ 3 00 4 17%7-XT
ikanaide iku ikanai ikitakute

The correct answer is #1- {Th W T.

To link verbs together we need to use the T -form (page 81).

Other Answers

17< and 4T7°7L\ — These two answers are in casual form, but we can’t link verbs together like this.
They need to be in T -form.
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1T%7={ T - This is the T -form of 1T X7=\\ (ikitai, want to go). Although it is in the correct form, it
doesn’t make sense in this situation. We would need to add something to show a contrast like T%
(demo, but) or L2*L (shikashi, however).

5]

1 3T 2 MATZAT 3 7=0L<T 4 LFTMLKT
yasashikute kantan de tanoshikute muzukashikute

The correct answer is #4- HEFHLL T.

When we link adjectives together like this using the T -form, they need to have a similar feeling.
Since the adjective at the end of the sentence is /z\»"\A (taihen, terrible), which is something
negative, it sounds strange to have something positive before it. Answer 4, £ 2L { T (muzukashikute,
difficult) makes the most sense and matches the negative mood.

Other Answers

PXLLT, DATZAT and 7=D L T - These are all positive adjectives, so they can’t be linked to a
negative adjective like 7z=\\"\A, (taihen, terrible).

Passage 3

BAT ~AXrILT w3 FEN [BREE “AX1)753] 0 SALrIE EX
i[./f:o

ZrixE XA [ 1] LYEWTY, XrhAll BRO  ZuAE (XA R
FLze WAWAL  ZXIXE XXFL7f, TH, 202 HxY [ 2 | BIZ
ZTWERA, 20D Xl &FA2rLWTY, £ab, 2FIX BAREO £%

[ 3 | #aFd, Brruw, 1ZA®T [ 4 | zrid %A &2 BuwIlr, 7
ORIE »ALE HFY | 5 | OrbHBODOT PXLWTY, ZORDOFOZLIT
FORARIILERT #HLwZFoZXidre 20 -T BEAAY #HLEWTT,

ROMAJI

Nihon de benkyo shite iru gakusei ga “Nihongo o benkyo suru” no bunshé o kakimashita.

Kotoba o takusan| 1 | shiritai desu. Kyonen wa Nihon no eiga o takusan mimashita. Iroiro na
kotoba o kikimashita. Demo, sono kotoba o amari| 2 | oboete imasen. Eiga no kotoba wa
muzukashii desu. Dakara, kotoshi wa Nihongo no hon o[ 3 | yomimasu. Ototoi, honya de

' 4 | kodomo ga yomu hon o kaimashita. Sono hon wa kanji o amari| 5 | tsukawanai node
yasashii desu. Sono hon no naka no kotoba o benky6 shita ato de atarashii sono kotoba o tsukatte

Nihon-jin to hanashitai desu.
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ENGLISH

Students studying in Japan wrote a “To study Japanese” composition.

(I) want to know a lot of words. Last year, (I) watched a lot of Japanese movies. (I) heard a lot of
words. But, (I) don’t really remember those words. The words in the movie (lit., movie's words) are
difficult. That’s why, this year (I) read Japanese books. The day before yesterday, at the bookstore
(I) bought a book that children read. That book doesn’t use a lot of kaniji, so (it) is easy. After (I)
study the words in that book, (I) want to talk to a Japanese person using those new words.

il
1 LoTuElre 2 LUAAWTT 3 LYAELTT 4 LVET

shitte imashita shiritaku nai desu shiritai desu shirimasu

The correct answer is #3- LY =W CF .

Reading through the entire passage, we can understand that the writer wants to learn words and is

trying different study methods to learn more words. That makes answer 3, [ {)7=\\T$ (shiritai desu,
want to know), the best answer.

Other Answers

L->TWZ L7z - This is the T -form of L% (shiru, to know) in past formal tense. It is not clear if
the writer knew a lot of words before, but it seems like the rest of the passage discusses the ways the
writer is using to improve his vocabulary.

L) 7={7L T - This is the negative form of [ 1) 7=\ (shiritai, want to know). Reading the rest of
the passage, we can understand that the writer wants to learn more vocabulary, so this is not correct.

L) £ - This is the formal non-past form of L% (shiru, to know). In truth, this form is rarely used.
It is much more common to talk about the state of knowing by using the T\»% form — L>TWET
(shitte imasu, knowing).

(2]
1 BITZATWFEFHA 2 BIXZFL- 3 BIXZx7 4 BITZTWET
oboete imasen oboemashita oboemasu oboete imasu

The correct answer is #1- HBIFZATVOWE LA .

It is very common to use a negative verb with & X i) (amari, very). When used in an affirmative
sentence, it often has the meaning of ‘excessive’ or ‘too much’. In other words, even though the
sentence is affirmative, the meaning isn’t a positive one. That doesn’t seem to be the case here
because the writer does not seem to be complaining about remembering an excessive amount of
words.

Other Answers

BIXZFELE, BIT2FET and BITZTHFET - These are all affirmative. It’s uncommon to use
affirmatives with % F1) . When you do use % %) with an affirmative sentence, it has a negative
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meaning, as if you are complaining about the excess of something.

(3]

1 #atT 2 HHELS 3 HAEABVTT 4 HATOELE
yomimasu yomimashita yomitaku nai desu yonde imashita

The correct answer is #1- 5iHF 7 .

In the first part of this sentence, you can see 53 (kotoshi, this year), so we are talking about now,
not the past. That means the two answers using the past tense cannot be used. And, the rest of the
passage hasn’t given any indication that the writer doesn’t want to read books. That leaves us with 1
as the answer.

Other Answers

A FEL7- and 3RATUWE L 7= - These are both in the past tense. Since the sentence starts with 4
4 (kotoshi, this year), we cannot use the past tense. Be on the lookout for keywords that will help
determine what tense you should use.

A 1= WWWT T - Reading the rest of the passage, it seems like the writer wants to improve his
Japanese and continue learning new vocabulary, so this doesn’t seem like the best answer.

1 2¥3ld smAEETER 2 2y smAHAITAH
kodomo wa yomimasu hon kodomo ga yomimasu hon

3 2¥ED ;A 4 2yl HmLAE
kodomo ga yomu hon kodomo wa yomu hon

The correct answer is #3-Z E&HH

This is the only answer that uses the proper form of a clause. Remember that the verb should be in

casual form and the subject of a clause should be marked with the 7' particle or the @ particle.

Other Answers

¥EiE HmAaFdARand ZXE)Y ;AT TR - Both of these answers use the polite form of the
verb. We cannot use the polite form in a clause. We must use the casual form.

ZXElE 3kEA - We cannot use the |3 particle to mark the subject of a clause. It has to be
marked by the 7' particle.

5]

1T 2 ->ThbH 2 O -5T
tsukatte kara tsukatte

3 O S5THLNDT 4 ON
tsukattei nai node tsukau
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The correct answer is #3- 2 > TWEWDT.

Answer 3 is the only one with the correct form. The sentence finishes with X>X L\ (yasashii, easy),
so it makes sense to give a reason why it is easy. We can use the conjunction ®T to point to the
reason for something.

Other Answers

DN ->TH 6 and D2 ->T - We are not talking about a sequence of events, which is what we
commonly use these two patterns for, so this answer is invalid. Also, the word & ) is used in this
clause, so it is best to use a negative verb.

D7) - We cannot put a verb in casual form like this directly in front of an adjective.

Passage 4

BAT RAXIILT W3 20 TWBIFA H20-- Bl O RJALrI% EX
itf:o

4% 1 ] #z. veELLE ZLEYMI 12480 RBrbBLVWELE, ZORE
FANAD HUAIZ [ 2 ] ANTHE  FWEIhIT T3l vk b—2
=2 AfEex fahr BrEk [ 3 ] BOWEOT, HA»AIL TXFELE. b
LD wWan Zoitzr BRTWEL=, TANAE ZIL0LEHRT FuY
IAHIL AERFLE, AUl (AL HoTwWELE, Z0HIE LZkic [ 5] 7%
FABRD =TT, b, Wik HBRWT FLE%® BT HAThiElr,

ROMAJI

Nihon de benkyo shite iru gakusei ga “ichi-ban warukatta nichi” no bunsho o kakimashita.

Yon-nen| 1 | mae ni, tomodachi kara purezento ni jiinipon no hana o moraimashita. Sono hana o
genkan no kabin ni| 2 |irete kara daidokoro ni ikimashita. Pan o tésuta ni ireta toki nani ka oto
o kiita no de, genkan ni ikimashita. Watashi no inu ga sono hana o[ 4 |tabete imashita.
Genkan o soji shita ato de daidokoro ni ikimashita. Pan wa kuroku natte imashita. Sono hi wa

shigoto ni| 5 |ikitaku nakatta desu. Dakara, ie o denaide terebi o mite nete imashita.

ENGLISH

Students studying in Japan wrote a “The Worst Day” composition.

Four years ago, (I) received a present of 12 flowers from a friend. (I) put those flowers in a vase in
the entranceway and went to the kitchen. When (I) put some bread in the toaster, (I) heard some
kind of noise, so (I) went to the entranceway. My dog was eating the flowers. After (I) cleaned
the entranceway, (I) went to the kitchen. The bread had turned black. That day, (I) didn’t want
to go to work. That’s why, (I) didn’t leave the house, (instead I) watched TV and laid around.
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1]

125 2 CHW 3w 4 8T
goro gurai mae ni ato de

The correct answer is #3- gjlc .

This sentence is in the past tense and so we should use a time phrase that points to the past. Answer
3 is the only answer that points to the past.

Other Answers

Z% - The suffix T4 can only be used with points in time, like we learned in lesson 8 (page 159).
4 % is not a point in time though. Here is an example of how to use it:

LEXAT 682412 H»Mz2VFEL,

Yamada-san wa roku-ji goro ni kaerimashita.
Mr. Yamada went back home around 6:00.

5 = The suffix "5\ can be used to talk about approximate amounts of something. We can
use it with 4 Ff ¢ 5\ (yon-nen-kan gurai, a period of about 4 years), and in conversation the [ (kan)
can be dropped 4 {54\ (yon-nen gurai, about 4 years).

However, if we use 4 {5\ by itself without §JIZ or {8 T, it is referring to something we are
continuing to do, not an action that has completed, like receiving a present.

4 FCHN ZTIT FATVET,
Yon-nen gurai koko ni sunde imasu.
(I) have been living here for about four years.

12T — The adverb {2 T (ato de, after) can be used here, but it would be talking about the future:
4 F%T Wik BWET,

Yon-nen ato de ie o kaimasu.
After 4 years, (I) am going to buy a house.

(2]

1T ANTHS 2 ANBHENIC 3 A5 4 \NBH%T
irete kara ireru mae ni haitte kara ireru ato de

The correct answer is #1- ANTHS .

Through the process of elimination this is the best answer. From context, we can tell that the writer

put the flowers in the vase, then went into the kitchen. Also, A41% (ireru, to put in) is the proper
verb to be used.

Other Answers

A#LBRTIC - It doesn’t make sense that the author would go into the kitchen before putting the
flowers in the vase since we later find out that the vase is in the entranceway.
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A->T/H 6 - This is actually the T -form of A% (hairu, to enter), which is intransitive. Since there
is an object in the sentence, it wouldn’t make sense to use an intransitive verb, which don’t take

objects. Also, if we use A% here, it might sound like the poor writer is squeezing herself into the
flower vase.

AM 512 T — We always need to put the verb before 2T in the past tense (i.e. A#17=427T ), so this
answer is invalid.

3]
1 LFLE=DOT 2 MW TW/E=DT 3 L/=DT 4 BW/=DT
shimashita node kiite ita node shita node kiita node

The correct answer is #4- W=D T .

The object here is BY¥ (oto, sound), and the best verb to use with that is < (kiku, to listen). We
actually can’t use 95 with ¥ .

Other Answers

LFEL/=DT and L7=DT - We can’t use 5% with ¥ (oto, sound), so both of these answers are
invalid.

BT/ DT - This is the past tense of Tt 5% . In English, this can be translated as ‘(I) was
listening...,, which it sounds strange to say that about a sound. From context, we can guess that the
writer didn't listen for very long, but in fact went into the entranceway to see what the noise was.

4]
1 BXN/=WTT 2 BEXTWILE 3 BERTWET 4 BEXRELBNTY
tabetai desu tabete imashita tabete imasu tabetaku nai desu

The correct answer is #2- B XTWE L1z .

We usually cannot talk about what another person (or even a dog) wants to do using ~7z\\, so that
rules out 1 and 4. This whole passage is in the past tense, so answer 3 doesn’t fit. That leaves us with
answer 2.

Other Answers

BN/ WTT and BN7/={L\TT - These two answers use ~7=\\ and we can not normally use
~7=z\\ to talk about what another person or animal wants to do.

A XTWF ¥ - This is in the non-past form, but the rest of the passage is in the past tense.
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1 4 ToTCnWFEL /= 2 ITXxFL -
itte imashita ikimashita

3% 5=TF 4 IT5=A BN >=TF
Ikitakatta desu ikitaku nakatta desu

The correct answer is #4- TE < Gh > =TT .

Reading the last sentence of the passage:

b, Wik BAEWwWT TLEER O RT fHaTunFElr,
Dakara, ie o denaide terebi o mite nete imashita.
That’s why, (1) didn’t leave the house, (instead I) watched TV and laid around.

So, the writer didn’t leave the house. That rules out 1 and 2. It also doesn’t seem like she wanted to
go to work, so answer 3 is out as well. That leaves just 4.

Other Answers

IT>TCWFE L 7= and 1TX X L /= - Judging from the last sentence, it seems like she didn’t make it to
work that day, so these answers can’t be correct.

fTX7=»>7=T7 - This is the past tense of 1T X/=\\ (ikitai, want to go).
TS0 - W+ Do =TF = {7530 57=TT

But this seems like a weird reason to sit around the house and do nothing all day, like how the
writer describes in the last sentence. So, this answer is invalid as well.
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